
FTG600-5 PARTS

0721-FTG600-PARTS

GRIDDLE (1)
SG600

GRILL GREASE CUP (1)
FTG600-1

(OPTIONAL)
BBQ GRATE (2)

FTG600-2

SHELF LEFT (1)
FTG600-3

 

SHELF RIGHT (1)
FTG600-4

 

MANIFOLD (1)
FTG600-5

 
VALVE (4)
FTG600-6

 DEFLECTOR (4)
FTG600-7

 
BURNER (4)

FTG600-8
 

IGNITER (4)
FTG600-9

 

KNOB (4)
CCH3-2

 

REGULATOR (1)
HRL

 

LEG RIGHT (1)
FTG600-28

 

LEG LEFT (1)
FTG600-29

 

LEVELING FOOT (2)
FTG600-17

 

CART WHEEL (2)
CCH-25

 

CART WHEEL CAP (2)
CCH-27

 

AXLE BOLT (2)
FTG600-20

 

TANK BRACKET (1)
FTG600-23

 

SHELF BRACKET (4)
CCH-6

 

GRIDDLE GREASE CUP (1)
FTG600-10

M6 FLAT WASHER (6)
 
 

M6 X 20 BOLT (33)
 

UPPER SHELF (1)
FTG600-32

 

LOWER SHELF (1)
FTG600-12

 

M6 LOCK WASHER (4)
 
 

BEZEL (4)�
FTG600-27

PG BOTTLE OPENER

FTG600-31 REAR �
LEG BRACE



LEG RIGHT (1)
FTG600-28

 

LEG LEFT (1)
FTG600-29

 

M6 WASHER (6)
 
 

M6 X 20 BOLT (10)
 



LEVELING FOOT (2)
FTG600-17

 

M6 X 20 BOLT (10)
 

UPPER SHELF (1)
FTG600-32

 

LOWER SHELF (1)
FTG600-12

 
TANK BRACKET (1)

FTG600-23
 



CART WHEEL (2)
CCH-25

 CART WHEEL CAP (2)
CCH-27

 

AXLE BOLT (2)
FTG600-20

 



M6 X 20 BOLT (5)
 

M6 LOCK WASHER (5)
 
 

REAR LEG BRACE (4)
FTG600-31



SHELF BRACKET (4)
CCH-6

 

M6 X 20 BOLT (8)
 



Tank Hook

Tank Holder



SHELF RIGHT (1)
FTG600-4

 



GRIDDLE (1)
SG600

(OPTIONAL)
BBQ GRATE (2)

FTG600-2

DEFLECTOR (4)
FTG600-7

 



GRIDDLE GREASE CUP (1)
FTG600-10



GRILL GREASE CUP (1)
FTG600-1



Match Ignition Hole














